


OxpaHa
DACTEHUM



3HaYeHHue pacTeHu 1
'KUBOTHBIX

= [Tnwa

= XXunuwe

= JlekapcTBa
= Kucnopog




3HaYeHHe pAaCTeHUuH ISl

= Kucnopog
* [Tnwa

= JlekapcTBa
= [lpeBecuHa
= TKaHU- XIONOK, IneH




=3a4€M HYKHO OXPAHSATH
pPACTECHUS !

=] [ouemMy MHOTHE paCTCHUS B
[IPUPOAE CTATIU PEIKUMMU !

= JlJ11 4ero Hy>KHO 3HaTh
[IpaBUJjIa OXPAHbI PACTCHUN
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KRPACHAZAA

RKHWI A

POCCUUCKOMU
OEJIEPAILINU




XO0XJIaTKAa




Con-TpaBa




Boaube JBIKO




KyBIIMHKA




JIeKapCcTBEeHHbIC PACTCHUA




= CerogHs s1 y3HaJa

( 12 )...

= MeHs yIUBHJIO

= 51 monsx (J12)..
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-

J whiteaueen93@gma}1:com



«OxpaHAaTH NPUPOAY =
3HAYUT OXPAHATHL PoauHy»
MallpumBun




